standard form
(vertex form)

$$
y=a(x-p)^{2}+q
$$

"a" same for both forms
general form

$$
y=a x^{2}+b x+c
$$

$$
y=-x^{2}+4 x+3
$$

same graph

$$
y=-(x-2)^{2}+7
$$

$\qquad$
changing general to standard form (COMPleting the square ch 3)
ex. 1

$$
\begin{aligned}
& y=x^{2}-10 x+3 \\
& y=\left(\begin{array}{l}
\left.x^{2}-10 x+25\right)-25+3 \\
\text { JR SQ } \\
\text { FACTOR }
\end{array}\right. \\
& y=(x-5)^{2}-22
\end{aligned}
$$

ex. 2

$$
\begin{gathered}
y=\frac{3 x^{2}}{3}-\frac{12 x}{3}+7 \\
y=\underbrace{3\left(x^{2}-4 x+4\right.}-4)+7 \\
y=3(x-2)^{2}-12+7
\end{gathered}
$$

$$
a=3
$$

$$
\left(\frac{-4}{2}\right)^{2}
$$

$$
\begin{aligned}
& y=3(x-2)-12+1 \\
& y=3(x-2)^{2}-5
\end{aligned}
$$

changing standard to general form ex. 3

$$
\begin{aligned}
& 3=\frac{1}{5}(x+5)^{2}-4 \\
& y=\frac{1}{5}(x+5)(x+5)-4 \\
& y=\frac{1}{5}\left(x^{2}+5 x+5 x+25\right)-4 \\
& y=\frac{1}{5}\left(x^{2}+10 x+25\right)-4 \\
& y=\frac{1}{5} x^{2}+2 x+5-4 \\
& y=\frac{1}{5} x^{2}+2 x+1 \\
& p 316 \# 4-9
\end{aligned}
$$

